Math 10
Lesson 6-4  Answers
Lesson Questions
[image: ]Question 1 
A tetrahedron has four congruent triangles.  Therefore the surface area is given by



Question 2 
For the rectangular prism the two sides of the base result in two triangular faces with a base of 8 in. and two faces with a base of 10 in.  In addition, we are given the height of the prism.  We need to calculate the slant height for each triangular face. 






For the 8 in. triangle  face				For the 10 in. triangle face
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The surface area of the rectangular pyramid is





Question 3 
For a right cone


We are given r (4 m) and h (10 m) so we need to calculate s first.
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We can calculate the surface area:



Question 4
Note that the given area (3000 in.2) is for the faces of the pyramid.  Therefore, the area of one face is


Using the formula for the area of a triangle


h
25
30












Assignment
1.	a) 151 in.2 b) 2356 cm2
2.	a) 896 cm2 b) 628 yd. 2
3.	a)
[image: ]
	b) 7008 ft. 2
4.	923 285 ft. 2
5.	a) 2261.9 cm2  b) $11.94
6.	a) 87 m2  b) 176 ft. 2
7.	2.0 m2; I assumed the hides had equal areas.
8.	188 ft. 2
9.	a) Right square pyramid and right cone  b) Right rectangular prism
10.	The Louvre
11.	a) 193.7 cm2  b) 34.9 m2
12.	61 ft. 2
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Dr. Ron Licht  [image: creativecommons] 	3	www.structuredindependentlearning.com
L6-4
image2.wmf
(

)

(

)

1

2

1

2

4

4

4(5.0)(4.3)

=

=

=

=

2

43m

V

SAA

SAbs

SA

SA


oleObject1.bin

image3.png




image4.png




image4.wmf
222

10

2

10

2

10

10

64

3616

52

52

=+

=+

=

=

s

s

s

s


oleObject2.bin

image5.wmf
222

8

2

8

2

8

8

65

3625

61

61

=+

=+

=

=

s

s

s

s


oleObject3.bin

image6.wmf
(

)

(

)

(

)

(

)

(

)

(

)

810

11

881010810

22

881010810

22

22

8611052810

=++

=++

=++

=++×

=

2

214.6in

VV

B

SAAAA

SAbsbsbb

SAbsbsbb

SA

SA


oleObject4.bin

image7.wmf
2

=p+p

SArsr


oleObject5.bin

image8.wmf
222

2

2

104

10016

116

116

=+

=+

=

=

s

s

s

s


oleObject6.bin

image9.wmf
2

2

(4)116(4)

=p+p

=p+p

=

2

186m

SArsr

SA

SA


oleObject7.bin

image10.wmf
3000

750

4

==

V

A


oleObject8.bin

image11.wmf
1

2

1

2

75050

75025

30

=

=

=

=

V

Abs

s

s

s


oleObject9.bin

image12.wmf
222

222

2

2

3025

3025

900625

275

275

=+

=-

=-

=

=

=

16.6in.

h

h

h

h

h

h


oleObject10.bin

image13.png
73 ft.

48 ft.




image1.emf

image14.png




